< & ¢@>(rad)
o
=
[¢)]
IIIIIIIIII

T F 1]
. Sl

N T

. -

: 4 ]

. . . b dn
. k4N

N O P i
: 4 :

: & :
Y :

+ | .

: 4+ :

4 .

-0.15------- :
: - :
.9_&_2: L 1 ....! L
IS F :
x - P Y ] O I S ) ) O e

o
]
TTTT T

1

2 3
TP1F9T (PCA t%obeamlinélf)

)
I
[N}

< dcot(6>
o

o =

;_I‘IIII(‘FIIII

4

—=— DQM_original_1000evt
—e— DQM_fitted4_1000evt

< 0dy > (Um)

| |
N =
T

Ratio

o
]
TTTT T

rl

[any
o
I8

< 8d,> (um)

Rati
ai

107

1

2 3
TPl;g)T (PCA t:(L)obeamIin%P

< opJp, > (%)

—2 --------- freseenananan E- F N N e
! U R foaiaceiaanas
_4 —_— -----: --------------------------
T.2| q ]

Ratio
-

9

1 i G 9beamiindf”



	Contents
	Page 1


